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HAM

MILK

BEEF

LAMB
PORK

BREAD

A BAG

AN EGG
A GRAM

PEPPER

A PEAR

A JAR

A CRAB
CHEESE

VINEGAR
A POUND

SPINACH
A MELON

A FRUIT
A LITER

AN ONION
AN APPLE

A MARKET
A TOMATO

A BANANA
A YOGURT

AN ORANGE
A KILOGRAM
A TIN, A CAN

A PACKAGE

FROZEN (M)

A CHICKEN
FROZEN (F)

A VEGETABLE

A DAIRY STORE

A STRAWBERRY



Solution

AGNEAUNEFRU I TUMDH

D EL

E P B PUN

ELDQWUNECREMER I
GREJKYRPLPPO

DDUYV

N A |

CBHRDVUDWUIR®OIL

AJNTOGNAUNPOTE

XHCZNU MD

N UNRE

LUKEBDELRFILSLLEPECM

CRGSAEFOOTN
DKYUAPRBTTHOZVNR

A NPLMUUR

R X U

UAVvVA XU

FOJAAL OSREM
SLUPU K ZEEVEUAW

E

E

R NN K

OHNDNOEESUVNNGSEGDZ

MUUFCDGEREHU

E
R ANABLNNMNDREQANOQND

P GU UEHWU

NABQEEOPLOOYAHMAXOTFWU

NPBMNIELCIL

N E

RMORLQOWTBGWEAGWUDBGTCA

AMX QG PA
DEWUSWUKS

Z EEl UBNF I WB

H B T

SSWEURPGROOEMXUN

HMTVJYCBAENUNETOMATE
QUNSACSMSUUKTRUOAYNU



